Total Efficiency

0.92

0.915

0.91

0.905

0.9

0.895

0.89

0.885

=-Data | | |
: ' I
= Dummy| | |
- . !

[{o]
Run Numbers



SHMS_[3 no cut

4500

4000

3500

3000

2500
2000 —
1500 —
1000 —

500}

II|III|I JIIIlIIIlIII

0

O'|||||||||||||

02 04 06 08

1

12 14 16 18

2

SHMS B

4500

4000

3500

3000

2500

2000

1500

1000

500

0

OIIIlIIIlIIIlIL

0.2 04 06 0.8

1

12 14 16 138

2



HMS_[3 no cut

12000 —
10000 —
8000—
6000—
4000~

2000~

0
0

02 04 06 08

12 14 16 18

2

HMS_p

12000 |~

10000 |~

8000—

6000 —

4000~

2000

0 02 04 06 038

12 14 16 138

2



SHMS_p

CTime vs SHMS 3 no cut

1.6

1.4

1.2

0.8

0.6

0.4

0.2

=
rrryrrrrrr[rrrrrrrrr[rrrrr ot

-50 40

=30

-20

-10

0

10

0 llllIlIIIJIILIlIIIIlIIIIJ_lIII|l||||IIII|IIII|IIII

20 30 40 50
Coin_Time

50(

40(

30(

20(

10(

0

SHMS_B

CTime vs SHMS 3

1.6

1.4

1.2

0.8

0.6

0.4

0.2

(=
LI | 1T | LI | 1T | LI | LI | LI | LI | 1T | LI

-50 40

=30

-20

-10

0

10

0 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

20 30 40 50
Coin_Time

50(

40(

30(

20(

0



SHMS_p

CTime vs SHMS 3 no cut

1.6

1.4

1.2

0.8

0.6

0.4

0.2

=
rrryrrrrrr[rrrrrrrrr[rrrrr ot

-50 40

=30

-20

-10

0

10

0 llllIlIIIJIILIlIIIIlIIIIJ_lIII|l||||IIII|IIII|IIII

20 30 40 50
Coin_Time

50(

40(

30(

20(

10(

0

SHMS_B

CTime vs SHMS 3

1.6

1.4

1.2

0.8

0.6

0.4

0.2

(=
LI | 1T | LI | 1T | LI | LI | LI | LI | 1T | LI

-50 40

=30

-20

-10

0

10

0 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

20 30 40 50
Coin_Time

50(

40(

30(

20(

0



HMS Cal etottracknorm

%
%
¥
4
i

SHMS Cal etottracknorm

SHMS Aero Npe Sum
E
10
*
H'E
10’ Ed
&
:-. 1 1 1 1 1 1 1 1 1
0 5 10 15 20 25 30 35 40 45

HMS Cer Npe Sum

SHMS HGCer Npe Sum




HMS Cer Npe Sum

SHMS Aero Npe Sum

30

25

20

15

10

HMS Cal etottracknorm vs HMS Cer Npe Sum

o

)

1.4 1.6 1.8
HMS Cal etottracknorm

SHMS Cal etottracknorm vs SHMS Aero Npe Sum

900

800

700

600

500

400

300

200

100

0.6 0.7 0.8 0.9 1
SHMS Cal etottracknorm

SHMS HGCer Npe Sum

SHMS Aero Npe Sum

SHMS Cal etottracknorm vs SHMS HGCer Npe Sum

50

45

40

35

30

25

20

15

10

0.4 0.5 0.6 0.7 0.8 0.9 1

SHMS Cal etottracknorm

SHMS HGCer Npe Sum vs SHMS Aero Npe Sum

50

45

40

35

30

25

20

15

10

0 5 10 15 20 25 30 35 40 45 50
SHMS HGCer Npe Sum



Electron-Proton CTime

il
140+ p cut i
B i
— B
1200 Dummy
| - No cut ;|
100 H :
| — No PID cut
80— i
I H
— 0
60— :
40[— :
20__ :
N L
0:_I | | | | [ | | | | | | J____l____M_.[__“L“‘J___M__L__ | | |_|___I | | | | | | | | |
=10 -8 -6 —4 -2 0 2 4 6 8 10



0.06

0.04

0.02

0

-0.02

-0.04

-0.06

-0.08

Electron-Proton CTime vs (MM)i

BT

8

-6 —4 -2 0

2 4 6 8 10
e p Coin_Time

—1700

—1600

—1500

400

300

200

100



HMS Delta

SHMS Delta

20

Emiss vs HMS Delta

15

10

-20

-0.1

Emiss

Emiss vs SHMS Delta

20

15

10

-15

IIII|IIII|IIII|IIII|IIII1LIIII|IIII|IIII

-20

Emiss

200

180

240
220
200
180




HMS Delta

SHMS Delta

Pmiss vs HMS Delta

20

15

10

o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-20

-0.1 -0.08 -0.06 -0.04 -0.02 .
Pmiss

Pmiss vs SHMS Delta

20

15

10

o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

PV e R RN EF RN IS U SRS R

Pmiss

160

140

120

180

160




SHMS Delta

HMS Delta vs SHMS Delta

20

15

10

-10

-15

o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

_20 1 1 1 | | 1 1 1 | | | I | 1 1 1 | | 1 1 1 | | 1 1 1 | | | I | 1 1 1 |

—-20 -15 -10 -5

0 5 10 15 20
HMS Delta

—800

—1700

—1600

500

400

300

200

100



Raster_X

Raster_X

0.25

0.2

0.15

0.1

0.05

0.25

0.2

0.15

0.1

0.05

Raster_X vs pmiss

IIII|IIII|IIII|IIH|IIII|IIII |




Raster_Y

Raster_Y

0.25

0.2

0.15

0.1

0.05

-0.05,

0.25

0.2

0.15

0.1

0.05

-0.05,

Raster_Y vs pmiss

s,

==
= -.1

I
=

IIII|IIII|IIII|IIII|IIII|IIIIII

I
=

50

40

30

20




Raster X vs Raster_ Y

0.25

Raster Y

o
N

0.15

0.1

0.05

005

25 -02 -015 -0.1 -0.05 0 0.05 0.1 0.15 0.2 0.25

Raster_X

— 20

—18

14

12

10



BPM Target X

220

200

DATA, Mean = -2.5122e-02+1.3285e-05

180

160

DATA, Stddev = 2.1793e-03

140

120

100

80

60

40

20

0 III|III|III|III|III|III|III|III|III|III
-0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 004 0.06 0.08 0.1




BPM Target y

350

DATA, Stddev = 9.8665e-04

300

250

200

150

100

50

o 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | |- | | 1 1 1 | 1 1 1 | 1 1 1
0 0.02 0.04 0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2




SHMS xfp

—— SIMC, INT =949
¥

ol
.

—— DATA, INT =909

B P 2]
] DUMMY, INT =2 [ I%
- E :

i !
- P [
L .;“Iﬂ iy
] 3 3
- K
- gl
N 5 "
| ﬁﬁ "
: f
TRTIRINCION o :J“_-F‘_""#' ............ |ttt |ttt NSO TN N TR RN DXEE A




20l| — SIMC, INT = 949

—| —— DATA, INT = 908

15
DUMMY, INT =2

10

|||||||||||||||||||||||||||||||||||||||||||||||||

—-25 -20 -15 -10 -5 0 5

10

15

20 25



14

12

10

SHMS xpfp

— SIMC, INT =949

—— DATA, INT =909

— DUMMY, INT =2

HiriH

-0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06




SHMS ypfp

141 — siMc, INT = 949

12
—— DATA, INT =909

10
DUMMY, INT =2

fIII|IIITIII|IIIlIIIIII

O - - & il
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

-005 -004 -003 -0.02 -0.01 0 0.01 0.02 0.03 0.04




16

14

12

10

— SIMC, INT =949

—— DATA, INT =909

DUMMY, INT =2

e
.........
--------




HMS yfp

o)
N

= 949

-15

— SIMC, INT

| —— DATA, INT =909
DUMMY, INT =2

___________________m

_
o o © < o o]
—

16
14
12



— SIMC, INT =949

—— DATA, INT =909

DUMMY, INT =2

i

| | |
-0.08 —0.

06 -0.04

SRS ERSRA SR SRS TR S W ST P PP S A AL PR PR PRSP EI o £ R



25

20

15

10

8

— SIMC, INT =949

—— DATA, INT =909

DUMMY, INT =2

.05 -0.04 -0.03 -0.02 -0.01 0 0.01

0.02

covn e |y Lty Mlllllljl'lllw

0.03

0.04



SHMS xptar

12
| | —— SIMC, INT =949

101 — DATA, INT = 909

8H - DUMMY, INT =2
- I§
B !% 1

C ; by
B ! !

L L *E

- By By

) | 00 |_-_LM'F Lottt sttt Lo --|J__W-J N R
-0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06 0.08 0.1




SHMS yptar

14

— SIMC, INT =949

il
—— DATA, INT = 909 ?ﬁﬁ&
J i

~— DUMMY, INT =2 ﬁf,

12

10

-0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04




HMS xptar

10

— SIMC, INT =949

— DUMMY, INT =2

-0.1

N
T 1 | T 1 | T T 1T T 1T T 7
i e

0 Luwmmﬁ 0 AT AN I P TR s
-0.08 —0 06 —0 04 —0 02 0 0 02

g

004

h

Lim

0.06

0.1



20

15

10

0

HMS yptar

— SIMC, INT =949

—— DATA, INT =909

DUMMY, INT =2

-0.1

-0.08 -0.06

-0.04 -0.02 0 0.02

0.04

0.06

0.08

0.1



40

35

30

25

20

15

10

0

SHMS delta

— SIMC, INT =949

—— DATA, INT =909

DUMMY, INT =2

=20 15 -10

ﬁlﬂ* i
[}
P,
ﬁ ]
i i
] s
i
} P
B
i ]
B 7
] [
. 3
: £
fa Y
B -
Lttt sttt Bbssosstntse Lt Lo s Lol 4 1t
-5 0 5 10 15

20



30

25

20

15

10

0

-20 -15 -10

HMS Delta

— SIMC, INT =949

—— DATA, INT =909

DUMMY, INT =2

5

10

15

20



Q2

200

180

160

140

120

100

80

60

40

20

— SIMC, INT =949

—— DATA, INT =909

DUMMY, INT =2

"
ot

IIII|IIII|III|—~.EkF..I

I.'.:l.'.-._l::llIII|IIII|IIII|IIII|IIII|IIII

o

1

2

3

4 5 6 7 8 9

10



60

50

40

30

20

10

epsilon

—— DATA, INT =909

DUMMY, INT =2

||u=’.|

— SIMC, INT = 949 i

[T TTT
e

.'E..-,—_l_lII|IIII|IIII|IIII|IIII|IIII

0.

5 0.55 0.6 0.65

0.7

0.75

0.8

0.85

0.9

0.95

1



(MM),

450

400

350

300

250
200
150

100

50

Hay

O :H- HHHHHHHHHHHH ﬁ-ﬁ'ﬁ-ﬁ'ﬁ'ﬁ-ﬁ'ﬁ-?i+?'+'-"'-""'+'-"'-"""'-'"'-"M H Mﬂ*’ﬁ’ﬂ'{-’-’#ﬂi—i—?} R H
-0.01 -0.008 -0.006 -0.004 -0.002 0 0.002 0.004 0.006 0.008 0.01




Phi Detected (ph_xq)

70H .
L ]
605 ; ;
504
— i ;
40__ w? L
B ] i f
— |
30— . B
— i i
- . "
20— " E &m
_ "l o
— o
10_— .a; 5
- -
o_l N R N T B B ..|.W|I ________ I RN N T S B B
-10 -8 -6 -4 -2 0 2 4 6 8

10



Theta Detected (th_xq)

300

250

200

150

100

50 [

-0.15 -0.1 -0.05 0 0.05 0.1 0.15 0.2

ST TT

=)




pmiss

= SIMC, INT =949

400

———— DATA, INT = 909

350

DUMMY, INT =2

300

250

= SIMC, MEAN = 9.1283e-03+8.2183e-05

DATA, MEAN = 1.4436e-0213.1854e-05

DUMMY, MEAN = 9.0750e-02+4.4075e-03

200

150

100

50

L

0 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | M*I "

-1 -0.8

-0.6

-0.4

-0.2

0

0.6

0.8

1



emiss

600

SIMC, INT = 949

———— DATA, INT = 909

DUMMY, INT =2

500

SIMC, MEAN = 6.7506e-03+1.3670e-05

DATA, MEAN = 1.2384e-0213.7492e-05

400

DUMMY, MEAN = 2.7041e-02+7.8127e-04

300

200

100

.............. ITPTI PP PO ! PR N | | 1 1 1 | 111

0 11 1 | 11 1 | 1 1 | | [ PP | | + IILLu.J'_
-1 -08 -0.6 -0.4 -0.2 0 0.2 0.4 0.6 0.8 1




pmXx

450

SIMC, INT = 949

DATA, INT =909

400

DUMMY, INT =2

350

SIMC, MEAN = -3.6716e-03+1.9695e-05

DATA, MEAN = -7.8922e-03+2.9112e-05

300

DUMMY, MEAN = -8.3644e-02+1.7192e-03

250

2003— '
1503—
1003—
501 .
ob e L b 1 g et mlm||||

-1 -08 -0.6 -0.4 -0.2 0 0.2 0.4 0.6 0.8 1



pmy

450

400

350

300

DUMMY, INT =2

DUMMY, MEAN = -3.4647e-02+1.7721e-03

SIMC, INT = 949

DATA, INT =909

SIMC, MEAN = 1.1944e-05+1.4296e-05

DATA, MEAN = -1.1587e-03+3.0879e-05

250

200

150

100

50

0 1 1 |

-1

-0.8

-0.6

-0.4

02

0

[

0.4

0.6

0.8

1



pmz

= SIMC, INT =949

———— DATA, INT = 909

500

DUMMY, INT =2

SIMC, MEAN = -5.3776e-03+1.4290e-05

400

DATA, MEAN = -7.6256e-03+2.8820e-05

DUMMY, MEAN = -5.3731e-03+2.0186e-03

300

200

100

0—1 -0.8 -0.6 0 —0 2 O 0.4 0.6 0.8 1




250

200

150

100

50

SIMC, INT = 949

DATA, INT =909

DUMMY, INT =2

SIMC, MEAN = 9.4352e-01+2.7335e-05

DATA, MEAN = 9.5180e-01+6.2270e-05

DUMMY, MEAN = 1.0793e+00+1.7058e-03

0.6

bttt L— VP FRTPIFY NPT [ERPERL FRTRP IET

0.8




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42


